(4) for(int i=0,j=0;i*j<5;i++,j++) System.out.print('*");
(5) for(int i=0;i<2;i++)

for(int j=0;j<3;j++) System.out.print('*');
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(A1) ROBXDABHIELUNESIE Mol &, BEBVNDESIE %]
BZRRB), (& 25t40)
(1) RIBEEFOESHFR(S true 23 false TT
(2) RIEBESFIIBIBEEFCT
(3) RHESF ? : I3BEBBEEFTI
(4) switch XIFERHHMXX TEIHDFIEA
(5) for XIFFIHIFEIL—TTY
(6) do while XIFFIHIEIL—TTY
(7) for XD EFDI] [ for XZERITDEEIC 1 BEREITERITSNZT
(8) HBHTIL—T 3T 2 ElFiER UNIBEIHRITSINET
(9) break XZRANDERTPDIBERUNSIRITDCENTEZT
(10) BHDRI—TIZZ0EHESRUES I — R LDMBEIHETY
(11) BAIEE CEEDEBHOEH EEIETEIT
(12) ERIDEHIBRIS new BEFZRNTHERLET
(13) 1 RITBAIIDERVDEIBZRDIEEEIRAFIC 0 ZEEFET
(14) BADRZAFIC a' BREDXFUT DIV EBEITDCENTEFXT
(15) 1 RITBELHIDBLHIZHIC . length DT D EEHNBEMNESSNTET
(16) 2 RITBLHIDEIIBRZIBET DICIE 2 DDRAFNHUETT
(17) BB RIIEARREZHD 1 DTI
(18) BEABZTHIC(Z int BLXD double BENDHNF T
(19) DS RBZHDESINEFRITDCEFITETEIEA
(20) DS RAEAIYN=EUTOSREEHEEDCENTEZT
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1 O 2 O 3 O 4 >< 5 O
6 X 7 X 8 X 9 O 10 O
11 O 12 O 13 O 14 X 15 O
16 O 17 >< 18 O 19 >< 20 O

(A 2] BIEEBEEFZANCI—FTY, FSTI—FEETULEEE. B b
D true EIXDRDOZEEE true F/2(3 false TEBHEEL), (B 25t 10)
(1) boolean b !!;

(2) boolean b = true & | (2) |;

(3) boolean b = || false;

(4) boolean b = (false &% false) || ;

(5) boolean b = !(false || ( && true));
WEESH 2

' true > true > true * true ° false

(A 3] RFERUXZAWNCI—FTY, SI—FEZNZNEHTLCE
TBEEEHEIND M*] OER EMULE) ZBASSV), (525t 10)
(1) for(int i=0;i<3;i++) System.out.print('*');
(2) for(int i=1;i<=3;i++) System.out.print('*");
(3) for(int i=5;i»2;i--) System.out.print('*');

(A3 4] BeHIICRET DB/ EBICEZEU, (25T 12)
=21 BEIOWEMEE. SO — FaRTUICEEDEAEHEHEEZ RS0,
int[] ary={3,4,2,1};
(1) System.out.print(ary[1]);
(2) System.out.print(ary[ary[2]]);
(3) System.out.print(ary.length);
B2l 2 ROSBMICTHI X DEEI THEEZ1T DI — F 2@ =12 T
RSEREV . MPDIT/ IESIIRAFOHEZTLET,

int[] aryl={| (4) 35
Bchl1 @B 1538 238

egB | o | 1 [ 2 |

int[1[] ary2={ (5) 35
Be5l2 e%B 138

0178 1 3

1178 2 4

int[][] ary3={ (6) };
fick3 edB 1318

03B | 6 5 |

1178 4

278 |3 2 | 1 |
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1oy 2 2 S| * e, 1, 2
> {1, 3}, {2, 4} ® {6, 5}, {4}, {3, 2, 1}

(A 5] RIID—F 1 OEICRIT D5 T, IELWVEDICIE Tol &S
EDOTCTNBDEDICIE ] BRIV, (B 25t8)
BJ—F1
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O 2 0 X 0O

(6] VDS5RXCcar ZEE L, ZOATI D LEEKLUTHEAITDII—R
CETRETY, ERZBUICIEHTI— FERTHRSERSV), (& 25t 10)
BO—FR2

1: (1) Car{

2: int number;

3: double ,'

4: }

5: class Finale{

6: public static void main(String[] args){
7: (3) mine=new Car();

8: mine. 4 =9129;

9: mine.gas=ﬂ;

10: System.out.print(mine.number+" ("+mine.gas+"L)");
11: }

12: }
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9129(30.5L)
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class gas Car * number > 30.5

(7] NEIT=V/N\N=DDFTv +ERNZTDODI—FTI, ETHIERD
KDIC switch XZAL\TI

7523 VHEY

Epg7) /52 1 FEE

— RZEmRSgEs), (10)

BO—F3 182750y 3 VARY
A

1: import java.io.*;

2: class Final5{

3 public static void main(String[] args) throws IOException{
4 BufferedReader br;

5: br=new BufferedReader(new InputStreamReader(System.in));
6: int a, b;

7 do{

8: a=Integer.parseInt(br.readLine());

9: b=Integer.parseInt(br.readlLine());

10: if(a==0 && b==0)break;

11: }while(b==0);

12: if(b!=0)System.out.println("Ready");

13: else System.out.println("Quit");

14: }

15: }

BMI—F 1(CE3T D5ck

(1) e oZzF—R—FANTDE Quit ERFUVEBEDRT LET
(2) 2&0ZEF—N—FADNTBEBEF—NR—FADICEDET

(3) 8&2ZF—N—FANTBEMERTSNTITWIENRR T UET
(4) 3&2ZF—R—FANDTDE Ready ERFUEDHRRT LET

import java.io.*; i ]
class Final7{ xAlgt?ﬁl%@l B/32
public static void main(String[] args) throws IOException{
BufferedReader br;
br=new BufferedReader(new InputStreamReader(System.in));
System.out.println("CERIDFT v FZADLTIZEI\");
System.out.println("1:1 B/\X 2:EE7J1J)—/\Z 3:3F/\A");
int ticket=Integer.parseIlnt(br.readlLine());

BESE 7
switch(ticket){
case 1: System.out.println("1BZP >0 3 VAAET");
break;
case 2: System.out.println("1 &EEE£7 ~520Y 3 VFAT");
break;
case 3: System.out.println("AA1BEFH1BD1EH/VR");
break;
default: System.out.println("3%HIDdFT v ELHHODFELBA");
break;
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